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V Sernester B.B.A. Degree CBCSS {OBE}'Biediiiar Examination, Novemb€r 2O21

(2019 Admn. Only)
core cours€
l- Finance

5B12BBA I ADVANcED FINANcIAL l/lANAGEMENT

Time : 3 HouIS lrlax. l4arks : 40

PAFT_A

Answer all questions Each question carries 1 mark

1. Deflne Financial L4anagement.

2. What is combined leveraq€ ?

3. What do you mean by qross working capilaL ?

4. Whal is cash bLrdgel ?

5. Deline EoO.

6. What is slock dividend ?

PAFT - B

Answer any six quesiions Each quesuon carrles 2 marks'

7. What d-o you mean by dividend decision ?

8. Explajn ihe mpoi(ance ol Financlal L4anagement

9. Explain lhe meaning ol opllrnum capita siructure

1 O. What are ihe eflecls oi inadequate working capiial ?

(6x1=6)
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11. What are the rnotives hoLd ng cash ?

12. Disi nguish belween capiialslruct!re and Jinaicia slrlcture

13. Erpla n relevance concepl of dividend

14 Wrlte a note on ag€lng schedlle. 16\2=12)

PABT - C

Answerany four queslions. Each queslion carries 3 marks

15. Expain the lhree mporranl linanca decisions

l6 Whal are the ljmilalions oi financ al leverage ?

17. What arethe arguments in lavour oiwealh max mizalion goal?

1 8. Tlr e insla ed capac ly ol a lactory !s I Ooo u nlts The actual produclion capacilv

is TOO un ts Selling prce per unit sBs l0andvarabecoslperunitisRs.4
per un t. Caculate the op€rating leverage in each oj the Jollow ng sluatons.

When iired .os1s are Rs I 000

Wh-6. iixed cosls are Fs. 1.500

!!ha' i .p lrr" : -4.2.000

19 From the io owinq iniorrnauon jind oul economc order quanllv

Annual usage r0000 unlts.

Co I o pl ro "r d rPc" \ -q one ord" P r0

Cosl oi malerlais per un I Bs.25

Annua carry ng cosi ol o.e un t : 10% ol inventory va u€

20. There are two I rrns P and O whlch are identica except P does not use anv debl

in ils capta slructure wlrie O has Rs.8,00,000,9% debentures in lls capilal

slruclure. Bolh lheftnrs have eamings betore nieresl and lax oi Fs 2 60,000 p a

and lhe capltalizalion rate is l0'/" assuming the corporale 1ax ol 30%, calculale

the va !e olllrese ftms accorcllng to Nllvl Hypolhesls \4'3=12J
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Answer any lwo qlestons. Each queslion carrles s rnarks.

21. Detine FlnanclalPlanning. Explaln lhe steps in llnancialp annlng

22. Expiain lhe faclors afiecting capital struclure.

23 The earn ngs per share of a company ls Fs. 8 and the .ale of caplalisation
applicable is 10 percent. The company has betore l, an option oi adopting
(i) 50% (ji) 75% an d (lii) I oo% d v d end pay out ralio Compule llr e rnarkel prlce

oflhe cornpany's quoled shares as perWaliers mode il il can earn a ret!rn ol

(dl lh"q or '0o drd 
'cr 

c". on is praired ed ling(

24. Prepare an esllmaie oJ working capilal requi€rn€nl Jrom the iol owing lnformation

oi a tlading comPanY.

a) Projecled annlalsales - 100000 unts.

b) Selling pdce - Fs. 8 per unit.

c) Percentaoe of nel proll on sa es 25%

d) Averaq€ credl period allowed 10 customers Sweeks

e) Averaqe credit perod allowed by supp ers - 4 weeks

l) Average stock holding ln lerms oi sales requlrements _ 12 weeks

g) Allow 10% lor contingencies. (2x5=10)


